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Bp 32 044209 H 22 H eI oo o 65 k> (BiiA)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
IENE AbE 10. 00| AHxf 134 1,340 2,592| 2,490| 2,430
HOR w5 5. 00 | #Hx} 30 150 3,672| 3,182 2,160
H ¥ £ ¥ 15. 00| AHxf 928 13,920 1,512| 1,332 270
X D BB 10. 00| AH%F 150 1, 500 1,048
ESF AWII--N E % 4. 00 | FHxf 52 208| 5,400 5,064| 2,592
H % i 3. 00| FHxf 12 36| 1,674| 1,449| 1,404
H A ] 1L 1. 00| FHxf 125 125 1,080 903 432
ENIEE sool fxt| 8| 10| 32400 2,734] 2160
A w5 5. 00 | FHx} 10 50 2,160 1,836] 1,620
= m | 0.40| fxf|  e00| 240  157| 37| 108
= %O 4. 00| FH%f 521 2,084 2,484 2,034| 1,080
[N %% 5. 00| FHxf 184 920 1,944| 1,776 1,080
E—< =% 0. 15| FHxf 4,191 632 76 69 59
A7 k= b AbiEiE 3. 00| FH%f 100 300 2, 808
(= = 2. 00| FH%f 9 18] 1,080 720 432
H % - 5. 00| FH%} 76 380 1,944 1, 745 1, 404
B OF g, 10. 00| AHxf 120 1,200 3,240 2,196| 1,944
£ A AbifEE 20. 00 | #H >t 130 2,600 2,192 2,143 1,998
o | 10.00| fxk|  s19] 3,190| 2,592| 2,396 1,728
LA R 5 % 10. 00 | #H%f 1,210 12,100 2,268 1,935| 1,728
==l H A & ¥ 4. 00| FHxf 585 2,340 2,484 1,850| 1,296
Tryal— £ ¥ 4. 00| FHxf 30 1201 3,240 2,938 2,916
AEHEE w5 0. 10| FH%f 1,700 170 151 91 65
ZDXH E % 0. 20 | FH %} 750 150 70 64 31
LU &k B 0. 20 | FH %} 300 60 86
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RS i Fosk L 10. 00 | #H%F 227 2,270 4,320 3,185 1,620
2ok ol 10. 00 | #H%f 635 6,350 3,780 2,979 2,700
B £ B 0. 35| ¥H%F 200 70 562 551 540
A — % ] 1L 2. 00| FH%F 40 80| 1,728 1,512| 1,188
/NEPE K i 10. 00 | #H%f 50 500 4,536
E =% 10. 00| AHxf 49 490| 10,800| 9,345| 8,640
AvavE 7 4 U E | 13.00| tH%F 52 676 3,780 2,093 594




